Chapter 9

Short-Term Financial Assets

1. In the journal provided, prepare the entries for the transactions described below. 
        (Omit explanations.)

May   5  Purchased 120-day Treasury bills for $78,000. This investment will be held to maturity.

Sept.  2  Treasury bills matured; $80,000 received. (No prior entries were made to recognize revenue.)
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2. Use the following T account to answer the questions below (assume a calendar-year 
        accounting period).
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What apparently occurred on:

a. January 10?

_______________________________________________________________________________________________________

b. January 15?

_______________________________________________________________________________________________________

c. May 12?

___________________________________________________________________________________________________________

d. December 31?

______________________________________________________________________________
3. Sophia’s Dress Shop has $6,000 in Accounts Receivable at December 31. The 
        company’s accountant estimates that $300 of the $6,000 will never be collected. 
        Complete the current asset section of the balance sheet below.
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4. Determine the interest on the following notes:

a. $3,000 at 10 percent for 60 days

b. $600 at 16 percent for 4 months

c. $5,000 at 12 percent for 45 days

d. $900 at 14 percent for 30 days

5. At year end, Corgin Music Company has a $1,800 credit balance in Allowance for 
       Uncollectible Accounts. If an aging method analysis indicates that an estimated $11,400 
       of year-end receivables are uncollectible, what will be the balance in Allowance for 
       Uncollectible Accounts after the appropriate adjusting entry for uncollectible accounts 
       has been made? Indicate if the balance is a debit or credit.

Aug.  13  Purchased 1,000 shares of Casper Corporation stock for $30,000. These shares were  

               purchased primarily for trading purposes.

Oct.     5  Purchased 4,000 shares of Tally Corporation stock for $68,000. These shares were 
               purchased primarily for trading purposes.

Nov.    1  Invested $98,000 in 120-day U.S. Treasury bills that have a maturity value of 
               $100,000.

Dec.  31  The market value of the Casper Corporation shares is $31,000, and the market value of the Tally Corporation stock is $63,000. A year-end adjustment is made.

        31  A year-end adjustment is made for accrued interest on the Treasury bills.
20x2
Mar.   1  Received maturity value of U.S. Treasury bills in cash.

Apr.  14  Sold all 1,000 shares of Casper Corporation stock for $30,800.

Sept. 22  Received dividends of $1 per share from Tally Corporation.

Dec.  31  The market value of the Tally Corporation shares is $70,000. A year-end adjustment is made.

6. The general ledger controlling account for Accounts Receivable shows a debit balance 
        of $40,000. The Allowance for Uncollectible Accounts has a credit balance of $2,000.  

        Net sales for the year were $250,000. In the past, 3 percent of net sales have proved 
        uncollectible. An aging of accounts receivable accounts results in an estimate of $9,000 
       of uncollectible accounts receivable. Calculate (1) Uncollectible Accounts Expense and 
       (2) the ending balance of the Allowance for Uncollectible Accounts using (a) the 
       percentage of net sales method and (b) the accounts receivable aging method.
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Answers

1.
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2.
 a. Wrote off individual account.

b. Reinstated account written off on January 10.

c. Wrote off individual account.

d. Made year-end estimate for uncollectible account losses.

3.
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4.
a. $50.00 ($3,000  .10  60/360)

b. $32.00 ($600  .16  4/12)

c. $75.00 ($5,000  .12  45/360)

d. $10.50 ($900  .14  30/360)

5.
 $11,400 credit

6.
1. (a) $7,500 ($250,000  .03)

   (b) $7,000 ($9,000 – $2,000)

2. (a) $9,500 ($7,500 + $2,000)

   (b) $9,000 (given)
